PRAC7ICA 9

CANTIDAD DE MOVIMIENTO

FISICA

CHOQUES
CURSO; QUINTO
Calcular las velocidades de los coches después Db+ Codkie i
del chogue e . E
1L v, =—4[m/s]
Coche 1 Coche 2 e )
m=slkgl  m =200k} ey
v, =8[m/s] v, =6[m/s] E A)6m/s B)-6m/s C)-6m/s D)NA
-6 m/s 6 m/s -6 m/s
5.
Coche 1 Coche 2
A)48m/s B)46m/s C)48m/s D)N.A. m, = 20 [kg] m, =10[kg]
6,8 m/s 6,8 m/s 6,8 m/s . E
v, =6[m/s] v, =4[m/s]
5 —_— —
Coche 1 Coche 2 ﬁ m
m, = 4[kg] m, =8 [kg] g '
v, =12[m/s] v, =0[m/s] A)4,67m/s B)4,67m/s C)6,67m/s D)N.A.
o BT : 667m/s  678m/s  467m/s
g % & g o O
Coche 1 Coche 2
A)-2m/s B)-4m/s C)-4m/s D)NA, m, =10[kg] m, =50[kg] g
8 m/s 8 m/s 6 m/s Mk pom ) v, =2[m/s]
3. Coche 1 Coche 2 = e
m=8lkgl  m.—4lkg]
g A)4m/s B) -2 m/s C)4m/s D) N.A.
v, =0[m/s] v, =—5[m/s] i 2m/s 4m/s -2m/s
= s 4
Coche 1 Coche 2
m, =40 [kg] m, =20 [kg] E
A)-34m/s B)333m/s C)-3,33m/s D)N.A. 24 yem <1 v, =5[m/s]

18 m/s 1,69 m/s

1,67 m/s

. — .-

s

A)6,80m/s B)6,70m/s C)6,67m/s D)N.A.

11,67 m/s

11,69 m/s

11,67 m/s



